1.

ThSL S M 4, 3, a, b, 89 Bio] 6 o], BAtol 4 A o, a2 4 b
o gre?

@D 100 @ 105 3 111 @ 120 3 125



2. xy,z9 Bato] 50]al ZA4to] 2 ff, Al & x2,y%, 2% O] Bt 27

@D 20 ® 23 ® 24 @ 26 B 27



3. WM 45, 8, a b O Wikl 40]T, Hatol 7 W, a2 +52 O] G
Fatelet.

s
=¥



4. Al S a, b, ¢ & Ho] 7, BAtol 4 A W, ab, be, ca & Bt
Jatefat,

s
=¥



A, B, C, D, E thAl Htof| tjf
olct

oo
= e
=
FH

ot

5.

68
1.9

70
14

65

1.3

7

67

-

KH

ﬂo

H

@ B B C @ D B E

D A



iy

A9 B9 C9 D’ E‘:]-//\—\]

Kelye]
j=Jau

o

6.

mJ
ﬂ.o
—_
N
—_
N
~
o
T
=
-
e
or ol
OGS
up o
o B
BT
.Y
0w
° =
M~
= m_a
G
mal
ol
B R
NE Mo
e or

168
1.9

162
1.4

165
2.3

161

165

@ A, C ® B, C @ B. E ® C, D

@D A, B



o S [271] A, B, C & 020 fj4a BAE vt=A Yerd

Ed
A. 1 5-¥ 50 712] €] 2t 4=
B. 51 F-¥ 100 7tA] 9] ZFA 4
C.1 52¥ 100 742 9] &

O C>A=B @ A>B=C ® C>A>B
@ B>C>A 3B A=B=C



m ©
A
o 2oL O
oo oar
o o ™ o
= Al AU RT
CuﬁWo_aﬂ_.
A gy
ﬂw._a_.@.‘_org )
B%mxuudu
T VKo g
T T gy RO
<IN T T
o__;ﬁmﬁﬁﬁ
op o op - H
T A

H(3)

Tor

gol o (et /Ach

SR REETEE 2

13
1

© TEYA

ot/

ol
B
T oo
U
~ o
‘q YA
e o
S
W
z 2
= 2
—
T
H <
™ ™
m K
ol °
> g
=
__O_l 1:.A.O q
ey
F B AK
Noe m =@
® O©




®1fﬂmﬂﬂ4
@ 1 5¥ 20 742 9] A
HE 20 7HA] 2]

DO>0=0 ®@ ©O<O=0 ®O@<O=0
@®O0O>0=0 ®AH=0=0



1%

[e]
=]

67|89

10191819

5

314

2

101819819

oK

&R

<

e

(#)

2~
e

J

x

™

<HZ>

2!

2 947t o @ wal

N
_ZT._
K

oju
L

)
,_0.#

9 7 olef & wol 24o] it

1:—.
-

el

@ H




